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G : 2% wenfl | [ Qurss wALGUaETSET @ 75
Time Allowed : 212 Hours | . [Maximum Marks : 75
ofleyeor : (1) Siwasg eamssend sfurs sissl ufard e eragT eTaTLGmen

sflunrrggs Qererarab. SFauUSeled Goplimlubea @mps
samsrarfUurerflLid o L arguirs Ggflelssaib.
2) Beod sieeg &L ewwlienar L HGW geSHGH LWeTUBSS
Ceuam(id. UL EIGET auenrausne Gluemler Lusen (S5 Lw.
Instructions : (1) Check the question paper for fairness of printing. Hthere is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

@Puy : @eelemmszmer epem Gfleysmens QamaimLg).

Note : This question paper contains three sections.

Wifley - I/SECTION -1
(HLGQueseT : 15) / (Marks : 15)

@iuy : () GUafelld 2 éer 15 eflemésErsEh eflwLwafléead. +15x1=15
(i) erliys Gilulaier Qar@ssiul(Harer WwrHo eflen_safld
Blaayh sflwrer sl amws CoibEsHSS eT(psaD.
Note : () Answer all the 15 questions.
(i) Choose the correct answet from the alternatives given in the brackets.

1. 8 walgear Caranblwg
(pu9fEsr, SQuissT, g evgGradlum, @,r_r,,é,iu_ur

Primitive man evolved in :
(Africa, America, Australia, India)

[ Hemliys / Turn over
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2. Spssam_submer erg urseflurdird o arir@gn Crrd ?
(ppeneTsaTLEsd, Ceuflpmissy, Glramsmerafl, Guflwbeaio)

Pick out the bacterial disease :
(Meningitis, Rabies, Tetanus, Small Pox)

3. Bl earpenaugs ellemgaw AwsHb Curg @sear aiflurs m Brigef
8 mg).

(@enevggiener, Glevegbled, enwsGrrenued, (pevarGeur)

If a water-soaked seed is pressed, a small drop of water comes out through :
(stomata, lenticel, micropyle, radicle)

4.  gragmsafla aswgder Leanf
(Banrd L5550, 2 anmelds &LGH50, <HBGaT &@wgmga HLS G,
&S manans G560 )

The xylem in the plants are responsible for :
(transport of water, transport of food, transport of amino ac1ds, transport of oxygen)

5. SMHUUSSESLD ereTnenLpss Ui (heug)
(emamiq.Grrariuen, sfl, GQuULGrmedlub, msir)

What is called as ‘black gold’ ?
(hydrocarbons, coal, petroleum, ether)

6. Benréd serluramss Csrar. sarsd Frss smrssd @b, sriueTal
FooGLIGH L& HETLLITEITES CQETaEm_ Senyga A GLD.
(Biss sapsw, Hhd samred)

Solution that contains water as the solvent is called aqueous solution. If carbon
disulphide is a solvent in a given solution, then the solution is called

(agueous solution, non-aqueous solution)
7. @fllys odlwsdd alalsr o arerg. sulfld o drar ouflon
(ordigd e, Lriimflé Sibled)

Vinegar is present in acetic acid. Curd contains
(Lactic acid, Tartaric acid)



10.

11.

12,

13.
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srgelalpig eCarsorag artisyorasral GAs0sGs5000H8pg.
g flaflunrag urdman yallphg GNs0sHEsLUGEDE. @5

erest BenpsaliuREng.

(&g, safloib) )

Ore is used for the extraction of metals profitably. Bauxite is used to extract aluminium,

it can be termed as
(ore, mineral)

g 2 Carsd UTsrFsglL e CaMBaTaIb ASHE QIrss swmmey eramm LW
upGHsmar B@LUILUSHGU LWaTU{HLD @)ressaamey

(Ag-Sn @iressaameal, Cu-Sn Glrsssamed)

Any metal mixed with mercury is called amalgam. The amalgam used for dental filling

is
(Ag-Sn amalgam, Cu-Sn amalgam)

B&Ggaflen aumiiur® CHy; isemens Qsmimb <iBss CGH, m5Gsen. Qs
Girermg pEeperer Qurgieurar Geumur@®
(CH,/C,H,)

Formula of methane is CH, and its succeeding member ethane is expressed in C;H.
The common difference of succession between them is :
(CH,/C,H,)

2 uifls Asrfomi L eafl wmhgsmas Gefllré Celuyb Geffl Ggmfladmu
i@ ULSET
(abeflwib, enplreger, é){LDGLDWGﬁﬂU_Iﬂ' @Garmfler)

The freezing of biotechnology products like vaccines require freezing
systems.
(helium, nitrogen, ammonia, chlorine)

SGameurl wanfl erenLig) 6T DGV (LD
(Bemepss Ceumur®, Wardmen, Waranmhped, Wlengyr L b)

Kilowatt-hour is the unit of
(potential difference, electric power, elecmc energy, charge)

Quiamss sfflusas sallwibler oigm erem
(82 meil sidlsw, 82 mellLé @Ganmey, mmqu_:gjma;um_aﬁ}suma) @Gﬁ)mp’;g}@] 92)

The atomic number of natural radioactive element is ;
(greater than 82, lesser than 82, not defined, at least 92) »

[ Smliys / Turn over
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14. g@ sbLAF sEGarr(® GsTiiyamLw srEsluTwb wrnb CurbgaaTn
aFsnhle Baealluss s 2 paurgb Hlapa]
(Bensrbss gnamicr, WearGarmliLb o haurse, Waranpsshd o (heurse,
BlenGerrm_LLd wrmmlLiige)

The amount of induced emf when the magnetic field linked with the coil changes is

(magnetic induction, current produced, E.M.F. produced, changing current)

15.  gruurfensy @enpanil Fflewiw vweruh&E g
(@e0wens, Gtads, GPlas. Gollwy) .

The defect hypermetropia can be corrected by using a
{convex lens, concave lens, concave mirror, convex mirror)

19y - IT / SECTION - II
(g LClueraar : 40) / (Marks : 40)

@ﬂuq : aCGged Bmugl dlamssensg allamwaflEsalb. 20x2=40

Note : Answer any twenty questions.

16. Gy ovridflurar @rieLwisar GCrmCorGert emwlGab
gsflasbgarsdar. G GMUELLmausme 5558 aurisms Cdarar®
wppewLlUlsss.

(<=1) @Cr wrdflwrer Grl e wissr

(@upemswurear @rieLwissr [ swd@eldaiul L @I el wiTser)
(=) @Cr wrédflwrer @yl el wirsen

(Gaumiur@aeser srauuiet [ @Gr wrdflurar ewblienu

2 GNL_WIGUTEHET)

Identical twins are syngenic with similar chromosomal contents. Natural clones are
those who possess identical chromosomes. Fill up with the suitable word given in the
brackets.

(a) Identical twins are :
{natural clones/induced clones)
(b) Identical twins are ;
(dissimilar to each other/similar to each other)



17.

18.

19.
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selgreys@ engryans safl. sefgreflib § erarer Gadrellsar Cal () @BCHML
o arenang 2 midl Glslieum ? ’
()

Kavitha is suffering from common cold. What are the questions you will put forth to
Kavitha to confirm the disease ?

@

(B oo g

£C1p Qar@ésuul_Harer uLsHearn eumybzl esrmif sruulen A Hmib B
urgrigenart Guwfleib.

Copy the diagram given below and write the names of A and B in the parts of
thyroid gland.

Epssanl smimsar geunrs G@mudar sflurar sphlaar arpsab.

(=) @pede.ur Qedvser Ganaadloean 2 pusd Galdlearmer. ST Csawser
GensGarsraman o HugS Cleldlempar.

(=) SRS pleLsmend, el Crrmameanyb e pHuss teldng.

Correct the statements if they are wrong.

(a) Alpha cells produce insulin and beta cells produce glucagon. »

_(b) Ovary produces eggs and androgen.

[ Smiys / Turn over
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20.

21.

&Gy Qar@asiul@earer waflls apeeried Gaaumb Cswasmers
sLOUUESSID LGSsmer (=) wHmb () ey Gblsseb.

(=) maisd 2aBd uEd
(=) UTTeney 2 a@s(Hd LGS

This diagram is of human brain, and the functions given below are to be marked as

(a) and (b).

(a) Seat of smell

(b) Seat of vision

Fnl (Né sevl G Sienang) Wevrdat lBHSID o (Feurdmg.
seflurarg). g waflear @mamnung LU Gos Gamosamans Garar. G L
GheaLudmhEg e (meurdng.

Composite fruit is formed by all the flowers of 7 ['rlgit is developed
from a single flower with multicarpellary apocarpous superior ovary.
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LTl ig. HAevers GsTEHearws sar_Hlbs eT(psis.

(1) Lmebooiblet, eumabyen, (pererbuel, @u_lsu Qeuareure

(=) wrenan, uenl, @dleny, spams, GIhEG

(@) pemgCeoml, e, Lig, eT(HEND, SLLOTET

(F) BT, Yenen, pgene, ShisD, Lied

One of the following groups contains non-mammalian animal. Pick up the group :
(a) dolphin, walrus, porcupine, rabbit, bat

(b} elephant, pig, horse, donkey, monkey -

(c) antelope, deer, cow, buffalo, blackbuck

(d) dog, cat, crocodile, lion, tiger

gbmewullen iy liumLuld smr_bls.
bl : udlen ssbseT

QeueTeume :

Based on relationship, fill up :
Whale : Baleen plates
Bat

Camg ' Laupenmll s Geiis.

Qarrevwor @ SeudfGartgea @réss fauliugy @ snmear a@ssE
Qeadlpg.

Birss Qeudtanemugn : .

Fill in the blanks :
Plasma : Fibrinogen, RBC : Carriage of oxygen
WBC

[ $®UYS / Turn over
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25.

26.

8

§Qyp Qamhaslu_yBEGD ULms saualss.

Sl

(<=1) uLb A HmL B & a;rramuu@m @u_la;a;rma;a)mm GO Hs.

() eraiaury Qeaefusshsdr CariLraoflgnnd  GQamesafarn
Qusstigaialmhg Coumu@Hemnen?

Observe the diagram :

13
\/
/
-

(a) Mention the type of movements shown in figure A and B.
(b) How does the movement differ from the movement of mimosa ?

Spssan o arays stfldllenw Lgsg sldslg sizman
SpHoed WndLrs wrhns.
waQufl » @mel —» sbuslluysd - Lmbs

Study the food chain below, correct it and convert into a pyrarmd,of energy
Mulberry — Sparrow — Caterpillar — Kite



27.

28.

29.

30.

31.
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QumphsTams BEs.
(=1) 2197 SposanTd, LFme - esd, 2 19 mg;r:r, QU Grrellwib.
(=) smeop, eLlumi@, Qerdléris, E5Cud

Odd man out :
(a) ' bio alcohol, green diesel, bio ethers, petroleum
(b) cholera, typhoid, scabies, dysentery

fmbul Qup Guers eueThd eeatugl Gluwhens euerd. @gaman walls @J&!TGL(I]GUT
Ceusgangell 85 Ceuslons @whens ﬂa;gpaﬁlemrrsu LOTHDETLD.

CupsarL sapeonl Ugdg, Suprarst Bwwg sfurasr aums o nd
Qelis. geuprs Guppsrer #flurer mphlenens mps.

A non renewable resource is a natural resource if it is replaced by natural process at a
rate comparable or faster than its rate of consumption by humans.

Read this statement and confirm whether it is correct or mcorreet If it is incorrect give
the correct statement.

apneme Gollés &g,sufo. sTgabsamer  ELp&s e aumdl e (mhHg
Cairb@sH&se . :
(el Lodusdr, smdr Wer v, Giu B GCLHB, Ve i GGLHH,
LiavLem eflemd@amar, Wenanam e ienl )

Pick out the suitable appliances to conserve the electric energy.

(Florescent bulbs, copper choke, solar water heater, electric water heater, tunigsten
bulbs, electronic choke)

2 G@aNlDg SMIFME, Flplod Saysadlelmbs Counubsss.

Distinguish between true solution and colloidal solution.

20 8l gepwowied 2 Lienwt 50 & Fé seorsdposrea ew;asemwsu Qefleflen sgeis
flerpenid seamsd(Hs.

Find the concentration of solution in terms of weight percent if 20 gm of cemmon salt
is dissolved in 50 gm of water.

[ Slgpliyas / Turn over
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32,

33.

34.

35.

manl_gmaflar oaiblan 1 8., gsalnailar sign Hop 16 & aaflew Bfer
epardanm Blevpeaws sarsdlHis. )

Calculate the gram molecular mass of water from the values of gram atomic mass of
hydrogen and of oxygen.

Gram atomic mass of hydrogen=1 g
Gram atomic mass of oxygen=16 g

wen@; Qsflts Ho Quimarsaiien pH wfliy Gy AarHssiiul (Rerarg.

Gummst PH wdiy
s 5
Fgawwe Garmr 8.2
eflaflam ' 2.5
L@ 2 uGwrs HwGureailwr 12

QerRssiul L SilLeumeaman HrmiGg), Spsaam clamss@nss eflami
&(55. :

(=) eThsl QUITERETSET s SHeentn 2 el LLieney ?

(=) erBEL QUTRETSET SMTE S6anio 2 L ianal 7

The pH values of certain familiar substances are given below :

Substance pH value
Blood 74
Baking soda 8.2
Vinegar 25
Household ammonia 12

Analyse the data in the table and answer the following questions :
{a) Which substances are acidic in nature ?
{b) Which substances are basic in nature ?

E(mby afanu STHlT Fee.Gul samysadlaiar masgin Gurg srmdlraaGul
ger o wrydog? e ufassrar elladsd Freyb.

Why does the colour of copper sulphate change when an iron nail is kept in it ? Justify
your answer.

sgifleflugden LwLTEET BlTarTyeaTs Snmis
Write any two uses of aluminium.
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37.

38.

39.

40.
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agbieflu 2 Carss swmeasda, argrifltlea ursmse gurflisl
LWL ET. ASDETET ST BISHE@eTS SuDeyLD.

To design the body of the aircraft, aluminium alloys are used. Give your reasons.

e sriuaieLw UpGaupmend allgalkSEhaT RETDI@ED. ST &iq.arb
SENENDSSTET STTERTEHDEE Fo .

Diamond is the hardest allotrope of carbon. Give reason for its hardness.

Gamg L @)L tiseer Hrlys

(21) elang = Hlenm x PHSSED erafler 2 HHbd

(<) drey enaml_rmen mrébls e LweaLBEng erafle MRI UL b

Gy szedledr Lweru@dlmg.

Fill in the blanks :

(@)
(b)

Force = mass X acceleration, then momentum =

Liquid hydrogen is for rocket, then for MRL

Brersfs Hmuys Snever ___ @Hlufleuid, auevessifis Smiug Apeen

GHllaib GHLdGeug wry.

As a matter of convention, an anticlockwise moment is taken as and a
clockwise moment is taken as

Gamg L @_higaner Byl

(21) Benerpss Coumum® : Geumedl B LT erefley

WlerGemm_Lib :

(<) Birdler Hlapeowid : wFUFTT DM erafled

@il g,hpe :

Fill in the blanks :

(@)

(b)

Potential difference : Voltmeter

then current :

Hydro Power Plant : Conventional source of energy
then solar energy :

[ Hsliys / Turn over
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41. Epssragb mpnseid saupser ageb @mbsrd sfdals.
(=1) flpps DS Aol Ta1Lg @f SwE Hopse @@pbs e Caime
Qeliws sguig).
(<2) e uCurHléEss smigw eugeild 2 drer Y Hmae S&r@Hb Sar@ib B
LwerU(HiSSemd.

Correct the mistakes, if any in the following statermnents :

{a) A good source of energy would be one which would do small amount of work
per unit volume of mass.

(b) Any source of energy we use to do work is consumed and can be used again.

42. Ser 2 Bd o Conss HQ@ANLTD sLan b9 BuEh. Gg Hs
WlengenL_amLiwyd o g Hlawauub GararL gl
Fuse wire is made up of an alloy of which has high resistance and

melting point.

43. Yereumd sdi eueru b Gllumgudd Gibub Gareammemss GHIEEGLD.
M
: \F;zg

N

(=) oflgiemar seuenps sam®, sfwurer s cuerULLD GUEMUGLD.
(=) 26 HpsssHDaETan cflanEsd SFeYD.

The ray diagram shown below is introduced to show how a concave mirror forms an
image of an object : '

SN
Y

{(a) Identify the mistake and draw the correct ray diagram,
(b) Write the justifications for your corrections.
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44. CGure@eardgs s_HUUTLH fadgaafld _ fipellends eursanmisener
Fssl LWETLESSILHEUSET ETT@TD S Siema Harid.
In traffic signals " colour light is used to stop vehicles because it is having

wave length.

45. Qémeumd aursdugda Qampser ergiabd Gmlulsr Smsseb.
(=) &rHsL Yo erem Uy wl (b Qsrar. et
(=) srpseiass Carhser smhss Dsanpamanilad Qpmrdl GUL@GK)GUIUE]GD
PgYw.

Correct the mistakes, if any in the following statements :
(a) Magnetic field is a quantity that has magnitude only.
(b) The magnetic field lines emerge from the south pole and merge at the north pole.

¥ifley - III / SECTION - I
(pHUQuamseT : 20) / (Marks : 20)

@Ay : (i) gaGeurm uEHANmESIL @ e oizb Breneg amssErss
aflen_weflGEeyb. 4x5=20
(i) eeauQeurm sflemalnEhd PEg WHICLGTSET. ‘
(i) Coemeuwren @Lmgefld UL s
Note : (i) Answer any four questions by choosing one question from each part.

(i) Each question carries five marks.
(i) Draw diagram wherever necessary.

u@$ - 1/PART - 1
46. waflgl uflawrrwd sLps 15 daodluar yarGsala GHUI ssss

Wrhphismens QaEraT_Sres o ararg).

(=1) wafls GosHean CeucuGeaum (S walger s shHsTe wallgen euery)
auertédl Lflemriogens e Frigg paopUUBESS.

(<=21) SYrvusre Gamssar aruGurg Caorenblar ?

(@) grbusre Gapmbeafll Hsedr curpey GOSN (SIS,

Human evolution has a record of changes for the past 15 million years.

(a) Name the different species of mankind in chronological order from primitive to
modern man.

(b) When were the primitive caves developed ?
(¢) Narrate the life led by early man like hominids.

[ $imuiys / Turn over
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47,

48,

49.

50.

o fiser uEGSuda wGoflur Lyell o eremg.

(=) @soeans sLHULGHSS 2 hisear LgHudan o flu oi@eQTsERsE $E5S
2 Gavrsenes aulBIGS.

(<) WG Alwreler sflwrer Crmi yfiEdlullamears Caittshiss mipas.
{@eflT, EESSD wHmD sEHRsmisFD, Cud)

There is a widespread outbreak of malaria in your area :

(a) Suggest some controlling measures to the local authorities corcerned.

(b) Pick out the right symptom for malaria.
(chill and shiver, and a rise in temperature, diarrohoea)

u@$ - 11/ PART - 11

Lu&@h sreaurmsallad e Cumih uralear Gumes panulld FEHUGLD
Eiran(h Hlspesamar aTpSIE.

(=1) oo Hlape LHnD Seupdles aumasemar alleuflés,

(<) sigaflen Benanin Saposenem eSS,

Write the two events involved in the sexual reproduction of flowering plants :

{a) Discuss the first event and write the types.
(b) Give advantages and disadvantages of that event.

o msEEmLw Ugdudda g sl Guurligard wasa geudymdpriser
garGes Frgsl Huum yenars gollTas aTarbenaner weansamers
answiTigneiTsen?

In your area there is scarcity of water and due to this people are affected. So, what are
the measures to be taken by you to meet ocut the scarcity of water ?

L@ - 1/ PART - I1I
Epssein_eupilibe Gordseien erameanfldmsamus sammadlab.
(=) 3.0115x 10 gy Gaemans Garam_ grdlyn

() 2795 & @piby
(@) 151x10% epasoamsmars Qarar, CO,

Calculate the number of moles in :
{a) 3.0115x 10% atoms of copper.
(b} 27.95 g of iron,

{¢) 1.51x10% molecules of CO,.
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e eumeuaneupBlen Qurgl Quuwir wHmIb TUPAC QUWiFs@er 6T (WIS,

(=81) CH5CH,CHO (<,) CH;COCH,

(8) CH; ACIIH—CH-_-, (/) CH3COOH

_ OH

(=) HCHO

Write the common name and IUPAC name of the following :

(a) CH3CH,CHO () CH,COCH,

(c) CH;j —(IIH—CH3 (d) CH,COOH
OH :

() HCHO

u@d) - IV / PART - IV

(=1) Al aflar psd Quiss eiF Hemsullen ugTaL Gﬁlm&;@élmg
B&smmenn ﬂuumuu@g,gw;

() 10 m/s 5m/s—>‘ — 12m/s

4 m/s
() —org)— .. o) (g —or—

10 &.4., 20 £.8. Aepwerer QurBLser wepGuw 10 ms~!, 5 ms~1,
Causgdler QeaveuamnsliuLb sT_HHAPS. eney genpien ey GCuords
Qarardlenper. Gursdlen Curg Simeu QFrL(dé Carar@nw Gy
2 dlanmgser. CurssGUda imar wapCu 12 ms~!, 4 ms!
Caussdler Qedvdlammen erafles F), F, @eunenns srams.

(@) Newton's first law of motion gives a qualitative definition of force. Justify.

®) 10 m/s 5m/s—> 4— 12m/s

TR CTRCE T

The figure represents two bodies of masses 10 kg and 20 kg and moving with an
initial velocity of 10 ms ! and 5 ms ™1, respectively. They are colliding with each
other. After collision, they are moving with velocities 12 ms~!, 4 ms~1,
respectively. The time of collision is 2 s. Then calculate F; and F,.

3030
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53, Spsseml LrsmksmeT] ULSS0 Ghlssa|.
(1) LB adT
() eogs
(@) e s
() ellevgCamemTid

(2.) Sengordns Caremmid
{2ar) S (H G TamTD

Label the following in the diagram given below :
(a) Incident ray

(b) Refracted ray

(c) Emergent ray

(d) Angle of refraction

(e) Angle of deviation

() -Angle of emergence

-o00o-



